Eea1=56, MEIE2=72, [EIe83=48, [IeE4=48, [EE5=32, [E6=64. RIE7=8, MEIE8=16. MEI&E
9=32, [RE10=40, FIE11=64, [IRE12=56. [IRE13=8. fIRE14=64, FIE15=24. R&E16=32



Eea1=16. [EE2=32, [eE3=8, E84=8, frE5=56, MEEi6=40, FEIEA7=48, RIE8=40, MIeE
9=64, FIEE10=48, MEE11=40, FEE12=32, [IE13=56. MIE14=24, FE15=72, FIE16=56



Eea1=16, [EIE2=48, [e83=8, E4=56, fIedH=16. MIeE6=16, MEIeE7=16, MEIeE8=48, MEI&E
9=16. FI&E10=64. REE11=40, MEE12=72, FIE13=40. FE14=32, FE15=72. EIE16=24



Eea1=48, [EE2=40, [IeE3=56, [IeE4=24, [ERE5=64, [IRE6=40. [IE7=-8, MEIE8=48, ME&E
9=56, [RE10=72, F@E11=32, MIRE12=24, REIRE13=72, REIE14=72, REIRE15=40, RIE16=16



Eea1=40, [EIE2=48, [IeE3=64, MIeE4=32, [EE5=24, [RE6=8, MEIE7=16, MEIE8=72, MEI&E
9=48, FI&E10=24. BE11=32, MEE12=32, FIE13=8, MeE14=72, [E15=48. [E16=56



